N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

[N o associated

ormalized x?

track vs n

0

[N of reci

14 16 18 20

track x?

berset

o
—
o
—
0
©
<
o
o
syoen aealdnp oney syoen areandnp
I o
N <
00 X
— O
s
.rm =1
<
—
N
—
(=]
i
0
©
<
o
o
ST oney syoel) axyey
I o
N <
00 X
o8
5 T
3 ¥ !
< 2
— - g
o~ ot 5
— 3
= o3l 3
g 3
o £ ]
© 3
~ 3
o =k
o
PPRTR TTETY MTEIETE TR ST MTITTR A 1 e 1 | 1%y i L EH
S . el
— - - o — — -
oney mmwh syoeJ ani
I o
N >< |
00 X
— O 4
@ * s
© E : E
— ¥ 3 ]
< SE
— .
a HH
o~ 1
— 3 ]
S a3l 3
—
£ 5 3
................. Foe) K = 3
S ]
o 4 3
© ” Ed 1
2 3
< x .
S 1
g G ;
o~ z i ]
] ¢ 2t 1
o ol ki % e L EER
- < @ ~ =)
<} = (=) =} =1
z — — B
syoeln L] syoen




	Contents
	Page 1


